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1. AT HER 7 YEATHI 8 1 A 800 TSR B ?

In which number does the 8 have the value of 800?

a) 1,468 b) 2,587

¢) 3,809 d)8,634
2. =+ 2 =9

100 1000

a) 0.043 b) 0.1043

¢) 0.403 d) 0.43

3. 149, U™ WOHT Il AGAE Hid §rg 2

What is the radius of a circle with diameter of 14 cm?

a)7cm b) 14cm
c) 28 cm d) 10 cm

4. T Fo BT G 6 FH. AT TABHES F A AFIR qFTE g 2
Which one is the length of the diagonal of a square where the length of one side 1s 6

cm?
a) 6 cm b) 5V2 cm
c) 4 cm d) 6vV2 cm
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5. Ao AT aUEY JErgHT M T WK T@gush! g T GOt arer v

el AU % | The figure below shows a glass and a jar of equal height. Both
are half-filled with water

o e g9 e R aeer odt fest qesr wed $ emerE

o ~

Hegldeal §7g ?

If you pour all the water from the glass into the jar, which of the figures below shows
how the level of water in the jar will look like?
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6. THUS L HEH\-IDG U3C JHTHT ol [hdld T hodH [ha MU | THS 5 9]
o N

{odTe T 2 9aT B . 74 A (6| WEHE 1 U9 T 3 =T {haraes ©. 42
A BT | B SIer THIBH AT ATEATATs FidHieea T daeg?

Miraj and Mahmud went to the same shop to buy some books and pens. Miraj bought
5 books and 2 pens and paid Rs. 74. Mahmud bought 1 pen and 3 books and paid Rs.
42. Which pair of equations could represent this situation?

a)5Sx +2x =74, y+3y=42 b) 5x +2y =74, x + 3y =42

c)5x+2y=74,3x+y=42 d Sy+2y=74,3x+y=42



7. TABT HEY FHT BT 45° Bl A6 §?

Which angle in the figure has a measure closest to 45°?

L )
a)p b) q
cr d)s

§. A (oA Tl a1 HIFeh! Bl | TG hig HNT FHAA T Hig 9T a6 g |

Below is a cone. Part of its surface is flat and part of its surface is curved.

TAHT AT FHf =AW 9 e AR FHAA T e 9/ a6 G 2

Which of these solids also has a flat surface and a curved surface ?
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9. TEI ATHR T AES HUHT AEqalls “HAeT” A~y | dAHT HT g5 (o
ATET G ?

Figures that are the same size and shape are called “congruent” figures. Which two
figures below are congruent ?

a) D b) ¢) d) ﬂ

a) land?2 b) 1 and 3
b) land4 d) 3 and 4

10. TSB! ST BT CHT WA Bid g7 ?

What is the measure of angle C in the triangle below ?

a) 45° b) 55° ¢) 65° d) 145°

11. A% BEEE el F9 e @ qAftdeT @ er?

In which of the figures below is the dotted line a line of symmetry?
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12. TesUm AT AT 35 W@eT THER =
85°

WU, x BT A Bid g7 ?
In the given figure, if the two rays are parallel, then
what will be the value of x ?

a) 85° b) 95°
¢) 90° d) 60

13. B4 AEMFHEX =50 T (X) = 10 A 9 9T G Hd g7 ?
In the given data, ¥ X = 50 and average (X) = 10, then what will be the number of

items ?

a)5 b) 6 c)7 d) 10

14. A< TICT SAAHAAT & FT ATT TO&T FTFEAT AT &1 3§ I7g A7 9

AHAHA afeer F Hiq g afw Py o

If 16 mangoes are added to a basket, the total number of mangoes becomes 36, then
how many mangoes are already present in the basket ?

15. 18x9 I AT Hid §7e)?
What is 18x9?



16. 54+7 I | Hd §g ?
What is 54 +~7 ?

17. AL A={1,3,5,7}, B={2,3,5,7} 9T ANB Hid §F ?
If A={1,3,5,7}, B={2,3,5,7} then what is the value of AN B ?

*
18. 1 SAGHT 36 AT AT [T, FTHAT FHeThel T FRITHIHT ATAT 5:4 & |
T MU 9T FGAT B balhel U2

There are 36 passengers on a bus. The ratio of children to adults on the bus is 5:4. How

many children are on the bus?



19. AT 10 AT HAAHT Hed T 150 9T 15 AT HeHB! Hed Hid §7g 2
If the cost of 10 pens is Rs. 150, what is the cost price of 15 pens ?

20. IfT TIET LA % 500 AT &I=aT ¥ 100 R 7 A T el Hid 87 2

If a radio is sold for Rs. 500, and there is a profit of Rs. 100, then how much is the cost
price?

21, F AT AR 24 T, T 9T TS IR AT B g 2

If a square has a perimeter of 24 cm, then what will be the length of a side? ?

22, YWTHT AFTE 6 M ASTE 4 A, TTHT AATHT HART BT 7 2

What is the area of the rectangle having length 6 cm and breadth 4 cm?



23. (3x +4y) x (3x — 4yl GLeha (FFEdiid) T F &2

<

What is the simplified (expanded) form of (3x + 4y) x (3x — 4y)?

24. Y64 B HE HA TG ?

What is the value of /64 ?

25. TagURT =T x ®1 AH Hid &7 7

What is the value of x in the given figure ? 95°

85°

70°




8@ (Group ‘B)

W EE] g_s} AFHT G | Each question is worth two points.]

1. TIST Y9I 15 92T AT & 90 T fhear | Wed dq=acr Ad agad!
@G, T ITA ! ATAS . 8 Bl AT =4 | I AR AT A THH

Tl ST |

A shopkeeper bought 15 mangoes at Rs. 90. Three of them were rotten, and he sold
the remaining mangoes at Rs. 8 each. Find his profit or loss amount.

2. UICT FHEMT 40 forandi g, TAEY 4 S0 AT G | AqARYT HUHT
forendfees! gfaerd o TS Te. |

There are 40 students in a class, and 4 of them are absent. Find the percentage of

students who are absent.




3. Al SATS 10% ITAT, T. 2000 BT 5 TUAT el QLRI AT Bid G

At a 10% annual interest rate, what is the total simple interest earned on Rs. 2000 over
5 years?

m+ny am-n N

B {HA Fblederd |

~

4. T p=5q=2,m=2Tn=3 ‘W{E

m-nygm+n

m+nxqm—n

pr=5,q=2,m=2andn=3thenﬁndthevalueofE

m—nxqm+n‘

2
x“—5x+6 x—3
+

x2-9 x+3°

5. T TR Simplify:
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6. TS 10 9. T¥arE, 9 W, =g ¥ 8 Wi, ST WURT A HA oI

(@ I
[evict sAchsall?

How many litres of diesel does a tank with length 10m, breadth 9m and height 8m
hold?

7. AMNEH TAFT HREABAA TIC a’l‘aﬁg TEEGHT BT G,I%WEFT
Ml @ TWeU®! AT | Afg sfesh! 910 avarg 6 el Bar s

In the annual sports event g of a length of bamboo was coloured green, and % of the

length of the bamboo was coloured blue. If the total length of the bamboo is 6 meters

i. stgee! i e e = avmguar

How many meters were green in the bamboo?

i, BT Hid AT Fdl I aeUHT &

How many meters were blue in the bamboo?
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8. WA AT AUISH! HET 400 H-HC [CHE ©. 6 Pl L o=l (AT Ig
ad qUEHT HE A TEUL . 65 Bl aXT [ThS F= @y | AW
qUEeed [Che a=dWal W qUEH! HER T aUdbl qaE a9 a9 Hid

THH FG SFAT g-g? A LA Ol RSB | TTq avebl JaHr 78 o9
FHfa gl WA gy T 9 FEre e |

Last year your class sold 400 concert tickets at Rs. 6 each. This year your class plans
to raise the price to Rs. 6.5 for each ticket. If you sell 400 tickets how much more
money will your class collect this year, compared to last year? Calculate this amount.
Also calculate what percent of money will be increased this year as compared to last

year.

12



